‘ Chapter 16, Lesson 3

Name Date Leveled Problem Solving

CA Standards
NS 2.1, MR 3.0

Subtract from 12 and Less

Solve.

1. There are 6 kittens in the 2. There are 9 bees in the

basket. Then 2 kittens jump
out. How many kittens are
left in the basket?

6—2=

kittens

. Barbara has | 2 stamps.
She uses 2 stamps fo mail
letters. How many stamps
does she have left?

stamps

. Marcos has | 2 oranges
and |1 O apples. He eats 3
oranges. How many oranges
does he have left?

oranges
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hive. Then 4 bees fly away.
How many bees are in the
hive now?

9— 1=

bees

. Ray has | | toy cars. He

gives 3 toy cars to Keith.
How many toy cars does
Ray have left?

toy cars

. Kierahas | | red hair bows

and | 2 blue hair bows.
She loses D blue hair bows.
How many blue hair bows
does Kiera have now?

blue hair bows

Use with text pages 309-310.



